Subtraction

Name:

Warm Up
1) 1000-475=

2) 1000-890+=

3) 1000-638-=

4) 10000-7880 =
5) 10000-6550 =

6) 10000-3896 =

1) Inacrowd of 10 000 people there are 2 970
children. If the rest are adults, how many adulfs
are in the crowd?

6) Toby has $1000. He buys a bike that costs $738.
How much money does Toby have left?

2) 10000 jeans are made at afactory. 8 788 are
delivered fo stores. How many jeans remain at the
factory?

7) Janice has driven 5602 km of her 10 000 km
drive. How far has she left to drive?

3) Therearel000 tickets for a rock show. So far
918 tickets have sold. How many tickets are still
available?

8) The total weight of two boxes is 1000 kg. If the
larger box weighs 697 kg, how much does the
smaller box weigh?

4) Annette wants to make 1 000 paper swans.
She has 106 left to make. How many swans has
she made sofar?

9) Betty had $10 000 to spend on her wedding
dress. After purchasing a dress for $7 486, how
much money does Befty have left?

5) Along distance runner has completed 208 km
of al1000 km race. How far does she have left to
run?

10) The combined weight of the vehicle and trailer
1510 000 kg. It the frailer weigh 946 kg, what's the
weight of the vehicle?
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